IECSRGBu6-Dreieckshelligkeit T*
T* Y=L w nc=100,
T*IEcsraBus=50 (YY) Y2 4(Y,=18, Y,/ 100<Y<=Y,0)
T*\(3,6)=26,T*,(18)=50,T*y,(90)=98

T*,=50,0Q %:47,94
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Yy =90

Yn=3.6

IECSRGBuU6

Normfarbwertdifferenz

Yoc=L* w nc=100,
T*IEcsroBus=50 (YY) Y2 4(Y,=18, Y, /100<Y<=Y,0)
log(dY) = (1/2,4) log[2,4¢,/50)] + [1-(1/2,4)] logY)
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IECSRGBu6
Normfarbwertemfindlichkeit
Yoe=L*w nc=100,

T* IEcsroBus=50 (YY) M2 4(Y,=18, Y, /100<Y<=Y,0)
log(dY/Y)= log[2,4(Y,/50)] - (1/2,4) log{/Y,,)

= (1/2,4) log[2,4¢,/50)] - (1/2,4) log{)
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10g(dY/Y)E=0,57, my=-6,"+
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IECSRGBuU6
Normfarbwertkontrast
Y=L w nc=100,
T*IEcsraBus=50 (YY) Y2 4(Y,=18, Y, /100<Y<=Y,0)
log(Y/dY)= - log[2,4{/,/50)] + (1/2,4) log{/Y,)

= - (1/2,4) log[2,4Y,/50)] + (1/2,4) logy{)

* =50, dY,=4,80 Y,/dY,=3
l0g(Y/dY)=0,57, m,=0.42
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bereich

Y,=18
Yw=90

Yn=3.6

Anwendungs-

TEIT
T,

IECSRGBUG relative DreieckshelligkeitT*/T*
Yn=L* w nc=100,

T* EcsraBus=50 (Y/Y,) M24(Y,=18, Y, /100<Y<=Y,o)
T¢\(3,6)=26,T* ,(18)=50,T* (90)=98

TT* =1, m=-0,20
L*, =49, T*,=50
A

Yn=3.6  Yyw=90

IECSRGBuU6 relative
Normfarbwertdifferenz

Yoe=L*w ~ ne=100,

T* EcsraBus=50 (Y/Y) M2 4(Y,=18, Y, /100<Y<=Y, o)
log(dY/dY,) = [1-(1/2,4)] log¥(/Y,)

log(AY/AY,)
AYIAY,

* =50, dY,=4,8Q dY,/Y,=0,2666 _ -
log[(dY)(dY),J=0, m,=0,58
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bereich

1y,=18
Y=90
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YN=3.6

log [(AY/Y) I (AYIY)] IECSRGBUG relative
Normfarbwertempfindlichkeit

SSu=@YMIBYN)y v =+ - =100,

T* EcsraBus=50 (Y/Y,) M24(Y,=18, Y, /100Y<=Y, o)
log(dYM)IAYM),] = - (1/2,4) loglIY,)
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log[(dY/Y)(dY/Y),]=0, m,;=-0,41 T .
*,=50, dY,=4,80 dY,/Y,=0,2666

ly,=18
=Clp log

YN=3.6

log [(Y/AY) I (YIAY),] IECSRGBUS relativer

Normfarbwertkontrast
CrlCru=(YIB(YIAY)y y =Ly, =100,

T* EcsraBus=50 (Y/Y,) M24(Y,=18, Y, /100<Y<=Y,o)
logI(Y/dY)/(Y/dY),] = (1/2,4) loglY/Y,)

T*,=50, dY,=4,80 v,,/d\.g; ﬁ,
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